(@)

DR
2% —8x+6=0
X—4x+3=0

G- 1D(Ex-3)=0

x=1,x=3

(1,0) and (3, 4)

M1

M1

Al

Al

11

11

11

11

Equate, and rearrange to three
term quadratic

Attempt to solve quadratic

Obtain both correct x values

Obtain both correct pairs of
coordinates

Attempt to gather like terms, but not
necessarily on same side of equation
Condone no ‘=0’

If factorising then expansion should

give x* and one other term correct
Quadratic formula should be correct —
allow one slip when substituting as long
as general formula already seen as
correct

Completing the square needs to go as
far as x —p = +\g

Or one correct (x, y) coordinate
following a correct factorisation oe
Allow as egx =1,y =0 as long as
pairings are clear












